
36 SNO-RAZOR R

Assembly Instructions



De�ector Panel

Left Pivot Plate Right Pivot Plate

Fluted Handle 
Locking Screw

Fluted Handle 
Locking Screw

RAZOR Cutter Assembly

SR36  3/8-16 x 3-1/2” SS Hex Bolts

Cross Tube

Razor Leg

De�ector
Bracket

assembly step 6

STEP 6:  MAINTENANCE & STORAGE

THE PRECISION SNO-RAZOR WILL LAST MANY YEARS WITH PROPER 
CARE. IT SHOULD BE CLEANED AND A LIGHT COAT OF OIL APPLIED TO 
ALL     SURFACES AND STORED INSIDE DURING THE OFF SEASON. 
TREAT THE SNO-RAZOR LIKE A FINE KNIFE, A RUSTY SNO-RAZOR WILL 
NOT PERFORM WELL. THE PIVOT PLATE BOLTS SHOULD BE SNUG, BUT 
NOT TIGHT, TO ALLOW THE SNO-RAZOR TO SWING UP IF IT HITS A 
HIDDEN OBSTACLE. RECHECK THE SNO-RAZOR ANGLE ANY TIME YOU 
SHEAR A BOLT. THERE ARE FOUR EXTRA SHEAR BOLTS IN YOUR 
HARDWARE BOX.  DO NOT USE ANY BOLT HARDER THAN A GRADE 2, 
(STANDARD HARDWARE GRADE) OR DAMAGE TO THE SNO-RAZOR, 
GROOMER OR SNOWMOBILE CAN OCCUR. BEFORE USING YOUR 
GROOMER EACH SEASON, REMOVE THE SHEAR BOLTS AND MAKE 
SURE THE SNO-RAZOR SWINGS UP FREELY. APPLY A FILM OF GREASE 
TO THE MATING SURFACES OF THE PIVOT PLATES AND REPLACE THE 
SHEAR BOLTS. REMOVE THE BREAKAWAY COUPLER FROM THE 
HITCHPLATE RECEIVER AND COAT THE COUPLER SHAFT WITH A FILM 
OF GREASE AND REPLACE THE SHEAR PIN.



From our team to yours, Thank you trusting your 
snow grooming needs to us.  Many hours have gone 
into making and delivering high quality equipment 
that is expected to last a lifetime.  We hope you enjoy 
utilizing your Snow Groomers equipment as much as 
we enjoyed making it.

1/2 (13mm) Wrench

9/16 (14mm) Wrench

3/4 6-point Wrench

1/2 (13mm) socket
9/16 (14mm) socket

& Rachet

tools

Phillips
Screwdriver



PARTS & Hardware

SNO-RAZOR Assembly
 
 1 - Cutter Blade Assembly
 1 - Cross Tube
 2 - Pivot Plates (1 Right and 1 Left)
 2 - SNO-RAZOR Legs
 1 - De�ector Bracket
 1 - Black ABS De�ector Plate
 1 - Magnetic Base Angle Indicator

SNO-RAZOR 36 Hardware

 4 - 3/8-16 x 1-3/4” Stainless Steel Hex Bolts
 4 - 3/8-16 Stainless Steel Nylock Nuts
 8 - 10-32 x 3/8”  Stainless Steel Truss Screws
 4 - 3/8-16 x 3-1/2” Stainless Steel Hex Bolts
 4 - 3/8-16 Stainless Steel Nylock Nuts
 4 - 5/16-18 x 1-5/8” Stainless Steel Hex Bolt
 4 - 5/16-18 Stainless Steel Nylock Nuts
 4 - 5/16-18 x 1“ Zinc Shear Bolts 
 4 - 5/16-18 Zinc Nylock Nuts
 

Assembly Step 4

STEP 4:  CUTTER BLADE ANGLE

Loosen the two Cutter Assembly Bolts at the bottom of the SNO-RAZOR® 
legs.  Place the Magnetic Base Angle Indicator in the center of the cutter 
assembly facing left or right at a 90 degree angle of the cutter assembly.  

Rotate the cutter assembly to an angle appropriate to your snow 
conditions. For soft or fresh snow adjust to between 18 and 20 degrees. 
Increase the angle the more dense or hard packed the snow conditions 
with a maximum angle being 30 degrees. Retighten the cutter assembly 
bolts to a torque of 70 ft-lbs.

MAGNETIC BASE

0

90

0 18 - 20    Soft SnowO        O

20 - 25    Average
25 - 30    Hard Pack / Ice

O        O

O        O

Angle Indicator

90

Zinc Plated SNO-RAZOR Leg

Cutter Assembly Bolt

Cutter Assembly



assembly step 5

STEP 5: CUTTING EDGE HEIGHT

TO RAISE OR LOWER THE CUTTER ASSEMBLY, LOOSEN THE FLUTED 
HANDLE LOCKING SCREW AT THE REAR OF THE PIVOT PLATES. RAISE OR 
LOWER THE CUTTING ASSEMBLY WHERE THE CUTTING EDGE OF THE 
BLADE IS APPROXIMATELY 1 INCH ABOVE THE UNGROOMED SURFACE. 
RETIGHTEN THE FLUTED HANDLE LOCKING SCREWS SO THAT VIBRATIONS 
WILL NOT ALLOW THE ASSEMBLY TO SLIDE UP OR DOWN. GROOM A 
SHORT DISTANCE AND ADJUST AS NECESSARY. IT IS NOT ADVISED TO 
LOWER MORE THAN 1/2” AT A TIME.  IT IS IMPORTANT TO TAKE INTO 
ACCOUNT THE SUSPENSION TRAVEL OF YOUR TOWING VEHICLE WHEN 
SETTING THE STARTING POINT OF 1” ABOVE THE SURFACE. THE TARGET 
     HEIGHT IS WHERE THE CUTTING EDGE 
     SHOULD BE LEVEL WITH THE EVENTUAL 
     GROOMED SURFACE.  IF THE WINGS ARE 
     NOT TOUCHING OR GROOMING THE SNOW 
     ON THE OUTER EDGE OF THE GROOMED 
     PATH THE RAZOR IS TOO LOW OR MORE 
     WEIGHT IS REQUIRED IN THE CHASSIS.

Start with cutter edge 1” 
above ungroomed surface.

Assembly Step 1 

STEP 1:  DEFLECTOR BRACKET

Loosen the nuts on the Hitch Plate, but do not remove them. Unwrap the 
De�ector Bracket and align the bracket plate on the outsides of the 
drawbars and the de�ector plate attachment holes facing down. Insert the 
5/16-18 x 1-5/8” Stainless Steel Hex Bolts from the outside, through the 
bracket plate, and then through the drawbar. Repeat until all four bracket 
bolts have been installed. Apply anti-seize to each of the threads, then 
tighten the 5/16-18 Stainless Steel nylock nuts.

36” De�ector Bracket

5/16-18 SS Nylock Nut

5/16-18 x 1-5/8” SS Hex Bolt



STEP 2: DEFLECTOR PLATE

Below the  De�ector Bracket, locate the threaded mounting holes for 
the de�ector. using a toothpick or similar, add a touch of Anti-seize to 
each threaded hole. 

Line up the de�ector plate where the holes are to the far outside edge 
and the textured side of the plate is facing up.  Be sure to place the 
de�ector plate in front of the chassis to properly direct the snow 
below the chassis. 

Insert the 10-32 truss screws but do not tighten until all screws are in.  
with all screws threaded in the bracket, begin to tighten all the screws 
starting from one side and working to the other.

10-32 x 3/8”  SS Truss Screw

De�ector Panel

assembly step 2

STEP 2: DEFLECTOR PLATE

Below the  De�ector Bracket, locate the threaded mounting holes for 
the de�ector. using a toothpick or similar, add a touch of Anti-seize to 
each threaded hole. 

Line up the de�ector plate where the holes are to the far outside edge 
and the textured side of the plate is facing up.  Be sure to place the 
de�ector plate in front of the chassis to properly direct the snow 
below the chassis. 

Insert the 10-32 truss screws but do not tighten until all screws are in.  
with all screws threaded in the bracket, begin to tighten all the screws 
starting from one side and working to the other.

10-32 x 3/8”  SS Truss Screw

De�ector Panel

assembly step 2



Assembly step 3

STEP 3: SNO-RAZOR® ASSEMBLY

Apply anti-seize to the threads on both Fluted Handle Locking Screw 
threads. Insert and tighten the Fluted Handle Locking Screws to hold the 
legs and razor cutter assembly in place.  

Move the assembly below the drawbars with the Fluted Handle Locking 
Screws in the rear and the notched side of the cutter blade facing forward 
(toward the hitch plate). 

Align the 4 holes in the drawbars to the 4 holes in the SNO-RAZOR® cross 
tube. insert the (4) 3/8-16 Stainless steel Hex bolts down through the 
drawbar, then through the cross tube. loosely tighten the 3/8-16 Stainless 
steel nylock nuts on each. Once all four are in place,  tighten to approxi-
mately 12 ft-lbs.

3/8-16 x 3-1/2” SS Hex Bolts

3/8-16 SS Nylock Nuts

5/16-18 x 1” Zinc Shear Bolt

SS Pivot Plate Bolt

Assembly step 3

STEP 3: SNO-RAZOR® ASSEMBLY

Apply anti-seize to the threads on both Fluted Handle Locking Screw 
threads. Insert and tighten the Fluted Handle Locking Screws to hold the 
legs and razor cutter assembly in place.  

Move the assembly below the drawbars with the Fluted Handle Locking 
Screws in the rear and the notched side of the cutter blade facing forward 
(toward the hitch plate). 

Align the 4 holes in the drawbars to the 4 holes in the SNO-RAZOR® cross 
tube. insert the (4) 3/8-16 Stainless steel Hex bolts down through the 
drawbar, then through the cross tube. loosely tighten the 3/8-16 Stainless 
steel nylock nuts on each. Once all four are in place,  tighten to approxi-
mately 12 ft-lbs.

3/8-16 x 3-1/2” SS Hex Bolts

3/8-16 SS Nylock Nuts

5/16-18 x 1” Zinc Shear Bolt

SS Pivot Plate Bolt



Assembly Step 4

STEP 4:  CUTTER BLADE ANGLE

Loosen the two Cutter Assembly Bolts at the bottom of the SNO-RAZOR® 
legs.  Place the Magnetic Base Angle Indicator in the center of the cutter 
assembly facing left or right at a 90 degree angle of the cutter assembly.  

Rotate the cutter assembly to an angle appropriate to your snow 
conditions. For soft or fresh snow adjust to between 18 and 20 degrees. 
Increase the angle the more dense or hard packed the snow conditions 
with a maximum angle being 30 degrees. Retighten the cutter assembly 
bolts to a torque of 70 ft-lbs.

MAGNETIC BASE

0

90

0 18 - 20    Soft SnowO        O

20 - 25    Average
25 - 30    Hard Pack / Ice

O        O

O        O

Angle Indicator

90

Zinc Plated SNO-RAZOR Leg

Cutter Assembly Bolt

Cutter Assembly

PARTS & Hardware

SNO-RAZOR Assembly
 
 1 - Cutter Blade Assembly
 1 - Cross Tube
 2 - Pivot Plates (1 Right and 1 Left)
 2 - SNO-RAZOR Legs
 1 - De�ector Bracket
 1 - Black ABS De�ector Plate
 1 - Magnetic Base Angle Indicator

SNO-RAZOR 36 Hardware

 4 - 3/8-16 x 1-3/4” Stainless Steel Hex Bolts
 4 - 3/8-16 Stainless Steel Nylock Nuts
 8 - 10-32 x 3/8”  Stainless Steel Truss Screws
 4 - 3/8-16 x 3-1/2” Stainless Steel Hex Bolts
 4 - 3/8-16 Stainless Steel Nylock Nuts
 4 - 5/16-18 x 1-5/8” Stainless Steel Hex Bolt
 4 - 5/16-18 Stainless Steel Nylock Nuts
 4 - 5/16-18 x 1“ Zinc Shear Bolts 
 4 - 5/16-18 Zinc Nylock Nuts
 



Assembly Step 1 

STEP 1:  DEFLECTOR BRACKET

Loosen the nuts on the Hitch Plate, but do not remove them. Unwrap the 
De�ector Bracket and align the bracket plate on the outsides of the 
drawbars and the de�ector plate attachment holes facing down. Insert the 
5/16-18 x 1-5/8” Stainless Steel Hex Bolts from the outside, through the 
bracket plate, and then through the drawbar. Repeat until all four bracket 
bolts have been installed. Apply anti-seize to each of the threads, then 
tighten the 5/16-18 Stainless Steel nylock nuts.

36” De�ector Bracket

5/16-18 SS Nylock Nut

5/16-18 x 1-5/8” SS Hex Bolt

assembly step 5

STEP 5: CUTTING EDGE HEIGHT

To raise or lower the cutter assembly, loosen the Fluted Handle Locking 
Screw at the rear of the pivot plates. Raise or lower the cutting assembly 
where the cutting edge of the blade is approximately 1 inch above the 
ungroomed surface. 

Retighten the Fluted Handle Locking Screws so that vibrations will not 
allow the assembly to slide up or down. Groom a short distance and adjust 
as necessary. 

It is not advised to lower more than 1/2” at a time.  It is important to take
     into account the suspension travel of your
     towing vehicle when setting the starting
     point of 1” above the surface. 

     The target  height is where the cutting 
     edge should be level with the eventual 
     groomed surface.  If the wings are 
     not touching or grooming the snow 
     on the outer edge of the groomed 
     path the razor is too low or more 
     weight is required in the chassis.

Start with cutter edge 1” 
above ungroomed surface.



assembly step 6

STEP 6:  MAINTENANCE & STORAGE

The precision SNO-RAZOR® will last many years with proper care. It 
should be cleaned and a light coat of oil applied to all  surfaces and 
stored inside during the o� season. Treat the SNO-RAZOR® like a �ne 
knife, a rusty SNO-RAZOR® will not perform well. 

The pivot plate bolts should be snug, but not tight, to allow the 
SNO-RAZOR® to swing up if it hits a hidden obstacle. Recheck the 
SNO-RAZOR® angle any time you shear a bolt. There are four extra 
shear bolts in your hardware box.  Do not use any bolt harder than a 
Grade 2, (standard hardware grade) or damage to the SNO-RAZOR®, 
groomer or snowmobile can occur. 

Before using your groomer each season, remove the shear bolts and 
make sure the SNO-RAZOR® swings up freely. Apply a �lm of grease to 
the mating surfaces of the pivot plates and Replace the shear bolts. 
Remove the breakaway coupler from the Hitchplate receiver and coat 
the coupler shaft with a �lm of grease and replace the shear pin.

De�ector Panel

Left Pivot Plate Right Pivot Plate

Fluted Handle 
Locking Screw

Fluted Handle 
Locking Screw

RAZOR Cutter Assembly

SR36  3/8-16 x 3-1/2” SS Hex Bolts

Cross Tube

Razor Leg

De�ector
Bracket



1/2 (13mm) Wrench

9/16 (14mm) Wrench

3/4 6-point Wrench

1/2 (13mm) socket
9/16 (14mm) socket

& Rachet

tools

Phillips
Screwdriver

From our team to yours, Thank you trusting your 
snow grooming needs to us.  Many hours have gone 
into making and delivering high quality equipment 
that is expected to last a lifetime.  We hope you enjoy 
utilizing your Snow Groomers equipment as much as 
we enjoyed making it.



36 SNO-RAZOR R

1180 N Mountain Springs Pkwy
Springville, UT 84663

800-430-7120
www.snowgroomers.net


